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Question Number : 1 Question Id : 819657163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of these languages is understood and executed by the computer?

Options:
. Machine language

- % Clanguage
- » Compiler language

4 % Assembly language

Question Number : 1 Question Id : 819657163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 819657164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Diagnostic Software?

Options:
1 % Windows-XP
> % Office-XP

= « Norton Antivirus

4 % Unix

Question Number : 2 Question Id : 819657164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % Windows-XP
> % Office-XP
= « Norton Antivirus

4 % Unix

Question Number : 3 Question Id : 819657165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is used to open the Organize Favorite dialog box in Internet Explorer?

Options:

1 ¢ Cirl+B
> % Alt+B
s 8 Chl+98
4 % Cirl+ A

Question Number : 3 Question Id : 819657165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

.« Cirl + B

, « Alt + B
2 % Ctrl + S

L% Ctl + A

Question Number : 4 Question Id : 819657166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following keyboard shortcut commands lets you perform the undo operation?

Options:
1 ® Ctrl+N



> % Cirl+8
3 o Cirl+Z

4 8 Chl+O

Question Number : 4 Question Id : 819657166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, ® CTRL + N
, « CTRL + S
2« CTRL + Z

. % CTRL + O

Question Number : 5 Question Id : 819657167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following options represents the correct sequence of shortcut keys to be used to perform Bold,
[talic and Underline operations?

Options:
| & Ctl+B: Crl+I; Ctrl + U

- x Ctrl+I; Ctrl +U; Cirl + B

z % Ctl+U; Cul+B; Crl +1

4 % Cl+ U Crl+ L Ctrl + B

Question Number : 5 Question Id : 819657167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

;o Ctrl + B; Ctrl + |; Ctrl + U

» % Ctrl + I; Cil + U; Cirl + B



5 % Cirl + U; Cirl + B; Ctrl + |

4w Ctrl + U; Ctrl + 1; Ctrl + B

Question Number : 6 Question Id : 819657168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which number system is the basis for computer operation?

Options:
, w» Hexadecimal system

> u Octal system

s % ASCII

4  Binary system

Question Number : 6 Question Id : 819657168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % %ﬁﬁﬁﬂﬂ QUTTRIT
, % HSETURT (Octal) JoTeir
. % HTERI (ASCII)
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Question Number : 7 Question Id : 819657169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following menu options is used to display the Custom Animation task pane in PowerPoint by choosing
Custom Animation option?

Options:
1 % Format

> % Tools

% « Slide show



4 ® Window

Question Number : 7 Question Id : 819657169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 819657170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Footnotes and Endnotes are used to provide certain

Options:
1 « References

> % Information
z % Points

4 % Lists

Question Number : 8 Question Id : 819657170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 819657171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Computers built before the 1st generation computers were:

Options:
1 % Mechanical
> « Electro mechanical

z # Electrical

4 w Digital

Question Number : 9 Question Id : 819657171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ggell 91El & el § Tgo AT Fege T o
Options:

1 ® q:'ﬁ_cﬁ

il ECUCRIEE]

Question Number : 10 Question Id : 819657172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Copying computer program or software without permission of its author is called
Options:

, » Highway robbery

5 % Larceny

-  Software piracy

4 % Embezzlement



Question Number : 10 Question Id : 819657172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 819657173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The function key F5 on the desktop in Windows is used to

Options:
1 « Refresh the screen

> % Opens help menu

5 s Does Nothing

4 ® Opens search

Question Number : 11 Question Id : 819657173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 819657174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The name a user assigns to a document is called a(n)

Options:
1 « File name

5 % Program
=z % Record

4 % Data

Question Number : 12 Question Id : 819657174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 13 Question Id : 819657175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Word, you can align the selected paragraph to its right by pressing:

Options:

1 % Curl+E
> % Cirl+L
s o Chl+R
4 % Ctrl- A

Question Number : 13 Question Id : 819657175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. % Ctrl + E

, % Ctrl + L
2 v Ctrl + R

L% Ctrl + A

Question Number : 14 Question Id : 819657176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a part of slide design?

Options:
, w Design Template

- % Color Scheme

= % Animation Scheme

4  Slide Layout

Question Number : 14 Question Id : 819657176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 819657177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When a computer prints a report. this output is called

Options:



1 ® COM
- u Softcopy
5  Hardcopy

4 % Wizard

Question Number : 15 Question Id : 819657177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 16 Question Id : 819657178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The WWW standard allows programmers on many different computer platforms to show the information on a server.
Such programs are known as

Options:
, % ISP

> « Web browsers
= % Web servers

, w Searchengines

Question Number : 16 Question Id : 819657178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 819657179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
When you copy a web page or a file, from a distant server, onto vour local computer, this process is called:

Options:
, = Conferencing

-  Downloading

- % Uploading

, » DBuffering

Question Number : 17 Question Id : 819657179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 819657180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which one of the following is a secondary storage device?

Options:
1 v CD-ROM



> % RAM
s % ROM

4 % OMR

Question Number : 18 Question Id : 819657180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, v CD-ROM

, # RAM
5 # ROM

4 % OMR

Question Number : 19 Question Id : 819657181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
To create large size drawings. architects and engineers often use a device called:

Options:
1 « Plotter

-~ » Band printer
- % Line printer

4 % Laser printer

Question Number : 19 Question Id : 819657181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 20 Question Id : 819657182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a concatenating operator in Excel?

Options:
, % Apostrophe (7)

o o Ampersand (&)
- » Exclamation (!)

4 w Hash (#)

Question Number : 20 Question Id : 819657182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 21 Question Id : 819657183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The built-in default copying in Excel is programmed to:-
Options:

, « Userelative position when copying formulas

-~ % Use absolute position when copying formulas

- % Use mixed position when copying formulas



4 » Usereferences when copying

Question Number : 21 Question Id : 819657183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Excel # feesa fBwiee Fuer #t g BT deme Gar ar 2

Options:
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Question Number : 22 Question Id : 819657184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

For switching between two windows, press and hold kev and press key to bring up the Taskbar Switcher
Window,

Options:

5 ® Shift, Tab

4 o _fjk.lt_. Tab

Question Number : 22 Question Id : 819657184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

o Bl T
, » Shift, Tab

5 # Ctrl, Tab



4« Alt, Tab

Question Number : 23 Question Id : 819657185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key combinations can be used to paste clipboard contents into a document?

Options:
1 % Ctrl+P
> % Shift+P

5  Shift + Insert key

4 % Shift+V

Question Number : 23 Question Id : 819657185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
. % Cirl + P
- % Shift + P

Shift + Insert =T
3 ¢ 3

. % Shift + V

Question Number : 24 Question Id : 819657186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
BIOS (Basic Input/Output System) is an example of:

Options:
, w Application Software

> o Firmware

5 » Operating System

4 ® Word Processing Software



Question Number : 24 Question Id : 819657186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 819657187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following key combinations can be used to close an Excel Workbook?

Options:
1« Cul+-W

o % Ctﬂ—Q
= Alt+W

4 % AltTQ

Question Number : 25 Question Id : 819657187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L v Ctrl + W
, % Ctl + Q
2% Alt + W

L% Alt +Q

Question Number : 26 Question Id : 819657188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The original ASCII code uses bits of each byte. reserving the last bit for error checking.



Options:
i W

Lh

Question Number : 26 Question Id : 819657188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % D

Question Number : 27 Question Id : 819657189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The silicon chips used for data processing are called

Options:
, % RAM chips

> s ROM chips
5  Microprocessors

4 % Memory Card

Question Number : 27 Question Id : 819657189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 819657190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In configuration, two network devices are connected together through a dedicated link.

Options:

, w multipoint

-  Doint to point
= # shared link

4 % distributed file

Question Number : 28 Question Id : 819657190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 819657191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which type of service is provided by session layer?
Options:

, » Encryption

> of Checking user credentials



5 » Decryption

4 % Translation

Question Number : 29 Question Id : 819657191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 30 Question Id : 819657192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which type of paper is used in Dot-Matrix printers?

Options:
, » Envelopes
> « Continuous forms

5 » Single sheet

4 % Tractor feed

Question Number : 30 Question Id : 819657192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 31 Question Id : 819657193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

i a <loud storage service provided by Microsoft that offers users the ability to store their data in the cloud,
Options:
1 % Net drive

> % Host drive
-z # View cloud

4 « One Drive

Question Number : 31 Question Id : 819657193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 32 Question Id : 819657194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AltaVista is a type of:
Options:

, « Search engine

> % Educational site

= % Advertisement site

4 % DBrowser



Question Number : 32 Question Id : 819657194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 819657195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which tab in the printer dialog box lets user to specify whether printer is attached locally or is in network?

Options:
1 ® Network

> # Local
3 « Shared

4 % Connect

Question Number : 33 Question Id : 819657195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Network (¢T%)
., » Local (siFe)
. » Shared (I7E)

, » Connect (Fe<)

Question Number : 34 Question Id : 819657196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Transfer rate of DVD audio single layer is

Options:
; % 3.6 Mbps

5 o 9.6 Mbps
5 x 4 Mbps

4 % 1-4Mbps

Question Number : 34 Question Id : 819657196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
DVD 37f2ar faerer 3ax #r 37T (SEW) & grar 2

Options:

, = 9.6 Mbps

5 9.6 Mbps
= % 4 Mbps

4 % 1.4 Mbps

Question Number : 35 Question Id : 819657197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In LINUX, boot process MBR executes process.

Options:
, % BIOS

> % Kemel
- % POST

4 v GRUB

Question Number : 35 Question Id : 819657197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LINUX #, 3z 9fssar MBR wfrar & fAsmies war #

Options:



1 % BIOS
- # Kernel
z ® POST

. v GRUB

Question Number : 36 Question Id : 819657198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which file format is valid for 3GPP2 multimedia file?
Options:

1 ® 3gp

- B 3gp2

Question Number : 36 Question Id : 819657198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
3GPP2 A=A wiEe & T #iF @7 wEge wiie AT 2

Options:

| % 39p
5 % Sgp2

3g2

2w

4 % Sgpp2

Question Number : 37 Question Id : 819657199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which file format is used to save Audio Video Interleave movie?
Options:

1 ®% .vim

5 % .avim



z % .avm

4« .avi

Question Number : 37 Question Id : 819657199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ®% .vim

5 % .avim
z ® .Aavm

4 .avi

Question Number : 38 Question Id : 819657200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which tab of Open Office Writer. auto text option is available?

Options:
1 ® View

~ % Insert

&,

=" Edit

4 % File

Question Number : 38 Question Id : 819657200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 39 Question Id : 819657201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Special encoded characters on bank deposit slips are detected by which of the following devices?

Options:
1 % Scanner

> % Plotter
z « MICR

4 % OCR

Question Number : 39 Question Id : 819657201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

dF o = . B ¥ § FEAE (UeREE) e W 94 BeA ¥ @ W BEmy (3w & e
ST E7
Options:

1 ® ﬁmT
. ¥ Collel
- «» MICR

. = OCR

Question Number : 40 Question Id : 819657202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used for Internet connection?

Options:
1 NIC
> # CD drive

- w Speaker

4 # Joystick

Question Number : 40 Question Id : 819657202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



ST T & o e F ¥ e s9aer B sar 2
Options:

; « NIC
o w OIS FES
S_QFW

4 % STOTEce

Question Number : 41 Question Id : 819657203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
VDU stands for”
Options:

, w Vvideo Display Unit

- « Visual Display Unit

%z % Video Device unit

4 # Visual Device unit

Question Number : 41 Question Id : 819657203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
VDU @& 9UT &9 &7 g7

Options:

A7 difgar f8Feer gfac (Video Display Unit)

> fasparer fBe==r gfae (Visual Display Unit)

el

=ik difsar f2arsd Ffoe (Video Device unit)

s fasparer f@amgw gfeie (Visual Device unit)

Question Number : 42 Question Id : 819657204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the term SCSI stand for?
Options:



, » Small Computer Software Interface

> » Small Computer Storage Interface
-  Small Computer System Interface

4, % Small Computer Standard Interface

Question Number : 42 Question Id : 819657204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SCS| & Trafia & #7 87

Options:
, = Small Computer Software Interface

, » Small Computer Storage Interface

5 o Small Computer System Interface

4 % Small Computer Standard Interface

Question Number : 43 Question Id : 819657205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following malicious programs does not replicate automatically?

Options:
1 ® Worm

5 o Trojan horse

- % Loop doors

4 % Virus

Question Number : 43 Question Id : 819657205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
far & @ Fia @7 e 9w e ® 8 T J@ g7

Options:

1_%31&




Question Number : 44 Question Id : 819657206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among these is a digital representation such as drawing, chart or photograph?

Options:
| « Graphics

- % Audio input

5 » Streaming video

4 » Virtual reality

Question Number : 44 Question Id : 819657206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T & ¥ w7 G R 39 e, o a1 vreEns 272

Options:

| v T

2

| . T AR

. T3 fafedr
4. c

Question Number : 45 Question Id : 819657207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is a global hypertext system that was initially developed in 1989 by Tim Berners Lee?

Options:
. % FTP

> % TELNET



2  WWW

4 % CHAT

Question Number : 45 Question Id : 819657207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s & @ Fi7 INTF geeare e § Swer Tew & & 1989 & &7 saw o gam
feRaT o 9T?

Options:

, % FTP

, % TELNET
- v WWW

. % CHAT

Question Number : 46 Question Id : 819657208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of these is the main disadvantage of 3G/4G wireless connection?
Options:

, « It should be in area within signal

- u It works where cell phone works

5 % It works according to the same data plan

4 » Itiswireless mobile telecommunication technology

Question Number : 46 Question Id : 819657208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e 7 ¥ 3G/4G T FAe H 7ET I wiT A 82
Options:

. v T8 i & ofialr &% H g =mev|

., » U TU% U STE A AT § Tl Wi FIH FT gl

. x T& TH= 82T T & HFJHN FHH FHLAT
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Question Number : 47 Question Id : 819657209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a least secure method of authentication?

Options:
, » Keycard

- u Fingerprint

- » Retina pattern

4 « Password

Question Number : 47 Question Id : 819657209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o 7 & Fla-wr gamier @ Few F7 gy &y g2

Options:

| % FT FE

- & ThRNE
> » e TTET
4 v TEES

Question Number : 48 Question Id : 819657210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a UPI PIN?

Options:

1 % Personal Identifier Number
- % Personal Interface Number

= % Paid Identification Number

4 + Personal Identification Number



Question Number : 48 Question Id : 819657210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UPI PIN &7 87

Options:

| % afSaeTa Tg=dar T&AT (Personal Identifier Number)

, x SHFAeTT FTHH HEAT (Personal Interface Number)

5 % Accd Tgdl TETT (Paid Identification Number)

ol =T 9g=T9 ¥&TT (Personal Identification Number)

Question Number : 49 Question Id : 819657211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In chart. categories are planned along the horizontal axis and values along the vertical axis in MS Excel.

Options:
1 « column

- % radar

= % stock

4 % Die

Question Number : 49 Question Id : 819657211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel &, =1 # Aoft &f3F 387 W 3R To7 eaer 387 W @ F19 §
Options:

| v oA

4.%.3‘:'-'%

Question Number : 50 Question Id : 819657212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



type of chart compares values across categories in MS Excel.

Options:
1 % Bubble

- o Bar
= % Area

4 % Conic

Question Number : 50 Question Id : 819657212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS Excel & Y & AE AOAT 7 Al H JAAT HAT g

Options:
1 ®% 9]

g % TRY

R ICED

Question Number : 51 Question Id : 819657213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is true about candlestick chart in MS Excel?

Options:
. « Requires least customization and can be created using built-in Excel charts

> % Requires more customization

5 » For this chart, the chart data is supposed to be created explicitly

4 % It’s a column chart variant

Question Number : 51 Question Id : 819657213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ASFITATE e H TIFd Hiseliees a¢ F TR H 5 H F Fiaar = Teq 2

Options:



1, W

SH TEH FH HJFHold S HEeTehdT glal § 3N S/ ABFHHETE Tadd # 3a=ag
IACH ¥ FATAT ST FoheTl gl

, 5 IO HeIgeed 1 HGeTHA Bl g

. x 39 OIT TMC 3T TISCAAT (TFHCaTacel) AT AT gl

, » TE FoH IE F TF TR (ANT) B

Question Number : 52 Question Id : 819657214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Using account . a person or program records login and password information from a legitimate user to
illegally gain access 1o ther accoumnts,
Options:
, % Opening

> % Closing

- o harvesting

4 w discarding

Question Number : 52 Question Id : 819657214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TEFTEE T GUET FT FE TFS T WER TR SRRt S9URERAT 7 S MY 9TEaE
# TR A T ¥ IHF HEC 7F 5T G F ov TS 7 g

Options:

| % HTfET
z.ﬁwﬁ“
3.#‘3%7
4 » BFFIET



Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 819657215 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension

READING COMPREHEMNSION

81965722
2

Online
Mandatory
1

1

5

Yes

No

1
81965722
Yes



Read the following passage and answer the
questions that follow:

Mountaineer, adventurer, explorer, author, Reinhold
Messner stands atop the world because of his
astonishing feats. This conquest of the highest and some
of the most difficult peaks of the world have earned him
the status of the greatest climber in history.

Messner’s interest in the mountains began early i life.
He climbed his first summit at the age of five. When he
was thirteen, he began climbing with his brother Gunther,
two years younger than him. By the time Rienhold and
Gunther were in their early twenties, they were among
Europe’s best climbers.

Reinhold became one of the first and most enthusiastic
supporters of Alpine style of mountaineering in the
Himalayas. It consisted of climbing with very light
equipment and minimum external help. He thought the
usual style was disrespectful towards nature and the
mountamns.

In his first major Himalayan climb I 1970, he and his
brother scaled the Nanga Parbat. But the success turned
mnto a tragedy when his brother died. Messner lost six
toes, which had become badly frostbitten during the
climb and required amputation.

In the 1970s Messner started championing the cause for
climbing Mount Everest without carrying any oxygen.
saying that he would do the climbing in a natural way. In
1978. he reached the summit of Everest. He proved what
certain doctors, specialists and mountaineers thought
was impossible. He repeated the feat from the Tibetan
side in 1980, during the monsoon season.

Messner today carries on business related to
mountaineering skills. He is also one of the founders of
Mountain Wilderness, an international NGO dedicated to
the protection of mountains worldwide.

In 2004, he completed a 2000 Km expedition through the
Gobi Desert. He now mainly devotes himself to the
Messner Mountain Museum, of which he is the founder.

Sub questions

Question Number : 53 Question Id : 819657216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Messner s interest in the mountains began early in

[ife — here ‘early in life’ refers to when Messner was
years old.

Options:
1« five

> # eleven
= % thirteen

4 % twenties

Question Number : 54 Question Id : 819657217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alpine style of climbing consists of:
Options:

, % disrespect for nature and mountains

-~ % climbing a mountain all alone

5 » climbing the Alps mountains

4  climbing with few tools and little help

Question Number : 55 Question Id : 819657218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To Messner, ‘climbing in a natural way’ meant to

climb:
Options:
1 = all alone

> % with a team

- % Wwitha lot ofhelpers

i without carrying oxygen

Question Number : 56 Question Id : 819657219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



‘He repeated the feat from the Tibetan side,* what
feat did he repeat?

Options:
; = oftravelling 2000 Km to Gobi Desert

of climbing the Everest without supplementary

o o OXygen
- » Oof climbing the Nanga Parbat

4 » ofprotecting the mountains worldwide

Question Number : 57 Question Id : 819657220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Messner did not give up climbing after he lost his

51X toes. What does this tell us about his character?
Options:
1 « That he was determined

> % That he was stubborn
= % That he was adventurous

4 % That he was a mounaineer

Question Id : 819657215 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 819657216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

m#wﬁ#ﬁﬁmﬁﬂmﬁmﬁ-uﬁ'aﬁar—r#aﬁﬁmys}%ﬁ#ﬁ? Th
T AT

Options:

| v T

> % 34Hg

S.QW

4 % W

Question Number : 54 Question Id : 819657217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TS T s e H Far anfHer 2
Options:

7 YT AR TgEN F I FHIHAH
. » 3ol U@ I =S
- » 3To°H U@IST 9T =ASaAT

, o & et 3R w7 Aee ¥ @ e

4.

Question Number : 55 Question Id : 819657218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AFAT & HFER 'THfash s & T2’ Fa
& 3T E
Options:

1. % Fﬁﬂ'm

- % el TEIHH & |
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Question Number : 56 Question Id : 819657219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FH fFeaa & FW T FHIE Fg0s,
3@l AT HTHITET SEUS?

Options:
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Question Number : 57 Question Id : 819657220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

v F R T EEe o
o » T I S a7
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COUANTITATIVE AFTITULE

Section Id : 81965723
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 81965723
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 819657221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should come in place of the question mark (?) in the following questions?

475 + 64% of 950 =900 + ?
Options:
1« 183

> % 233

Question Number : 58 Question Id : 819657221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fa=fofea e & Taf=Es (?) & T 9T 47 HTA?

475 + 950 =T 64% = 900 + ?
Options:

, v 183
, % 233
5 % 1983

, = 1863

Question Number : 59 Question Id : 819657222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What will come in place of question mark (?) in the following question?

(V3—2)2 =2 /12— V36

Options:



Question Number : 59 Question Id : 819657222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

PrafefEa wea F geafea (?) & T 9T a7 Hwe?

(V3-2)2=?—/12—-+/36

Options:
L, 13-2/3
. % 13—443
4 ® 1

Question Number : 60 Question Id : 819657223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ratia of the speed of a bus 1o that of train 15 15 : 27, Also, a car covered a distance of 720 ki om % hours. The speed of
bz 13 theee-fouri the speed of the car. How much distance will the train cover in 7 haours?

Options:
1 ® 760 km

> o 756 km
2 % 740 km

4 % Cannot be determined

Question Number : 60 Question Id : 819657223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e a9 AT & 7 A F FIA 15 27 § UF FW ¢ U F 720 Fenher & gl a7 Fr 1 9w
1 ol @ o ofy & de-atue §) 7 w2 & 3 o g 9 & ae?

Options:



. = 760 faareT
> « 756 f&enarex
= % 740 TFaAT
, « foeifa 7t v o &har

Question Number : 61 Question Id : 819657224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the average of 8 numbers is x, the average of first four is v and the average of last four is z. then which of the
following relations is true?

Options:
. 2=y

2 % X=Y*2

ZR=NF

Question Number : 61 Question Id : 819657224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tfr 8 mwoTHT F At x E o O vt w stwm y i afEw oo st wr w2z E A
PR # @ w9 @ wew w9 P

Options:

] ® 7 = Y + Z

2I%x:y+z
sgpas YE.E

in X=2y+z

Question Number : 62 Question Id : 819657225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The run rate of Indian cricket team in the first 20 overs of an ODT maich is 4. The Indian team is chasing a score of 300
runs. What shouwld be its rm rale in the remaining 30 overs in arder to win the match?

Options:



Question Number : 62 Question Id : 819657225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T THieSET 2 F vaT e S oo = I OEe 20 dEdr A 4 B st & wr JEs & B 300 =
mﬁlﬂamﬁtﬁrﬁaﬁgaﬂaﬂaﬁﬁmmﬁmmm

Options:

| % B.91
. % 6.98
o8 743

L 733

Question Number : 63 Question Id : 819657226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What will be the compound interest on 18.600 for 2 years if the rate of interest is 8% and 15% consecutively?

Options:
| % T4,499.90

> » T4.963.20

5 x T4.237

4 o T4,501.20

Question Number : 63 Question Id : 819657226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2 auf & T 18,600 F wRqgfy T T BT I T & FAFTT & ¥ 8% 3R 15% 72

Options:

. % T 4,499.90




. » ¥ 4,963.20
ox T 4287

. v T 4,501.20
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Section type:
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Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

81965724
4

Online
Mandatory
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Yes
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Question Number : 64 Question Id : 819657227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Four words are given, Which of them will come second if all of them are arranged alphabetically as in a dictionary?

Options:
1 « Praise

> # Practical
z % Prank

4 % Praver

Question Number : 64 Question Id : 819657227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR e Y m E o W ae F smeEy F NaER aviaws & sretevd e Fmr £ & g

T 9T hle-HT g HTEm?
Options:
| « Praise

- % Practical



= % Prank

4 » Prayer

Question Number : 65 Question Id : 819657228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Howr mamy such pairs of letters are there in the @iven word each of which has as many letters befween them in the word
a5 i1l the English alphabe!?

HEE LA™
Options:
1 % One

~ % Two
3 % Three

4 « More than three

Question Number : 65 Question Id : 819657228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
R T wEE AT & U0 Ghae s ¥ e O vl & 919 399 & e § Soee e autaen 7
T #re 27

HORIZON
Options:
1 ® Teh
o W Eﬁ'
e cirel

Question Number : 66 Question Id : 819657229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The guestion is based on the [llowing four letler-series. Study these careldly and try fo understand the mile in esch case.

abz by cdx dew

ary bvx oow dww

xa vwh xve wud

acz bdv cex  dfw

A term is given below which belongs to one of the above series. Find ot to which series it belongs.

Thq

Options:

1

> ®

% abz bcy cdx dew

azy byx cxw dwv

- o ZXa ywb xve wud

4 % acz bdy cex dfw

Question Number : 66 Question Id : 819657229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T TS IR IET-EET T AR § SO SOt S S 3K Yoiw T § Few
HHS & TOTH &4

abz
azy
Zxa
acZ

bey cdx dew
bByx  cxw dwy
ywh  xve wud
by cex dfw

forer T 9eE fEmm T ¥ S IWES AGET # ¥ HETeT 71 57 TS A0 ST SEdy OF meEis f

Jhg

Options:
, » abz bcy cdx dew

5 % azy byx cxw dwy

3. L

» ZXa ywb xvc  wud

, % acz  bdy cex dfw

Question Number : 67 Question Id : 819657230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



In the following question. a group of three inter-related words is given. Choose a word from the given alternatives
that is similar to the given words and hence belongs to the same group.

Diamond : Sapphire : Ruby

Options:
1 % Gold

> % Silver
3 « Emerald

4 % DBronze
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There 15 certain relationship between the last bwo words, Select the comect option that has the same relationship with the
second word.

7L QEHMDE | WIDELY - HVCDXE
Options:

; % DEMAND

5 % FRANCE

= « FRINGE

4 % STRING
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Do statemments are =iven. There may be cavuse and afect relationship betwzen the two statements. These two sfatements
may he the effect of the seme cause or independent ceuses. These statements may be independent cases without having any
relationship. Bead both the statements in each guestion and select the opiion that fits

L Tt is the aim of the city's civic authority to get the air pollution reduced by 207 in the next two months.
Il The mumber of asthma cazes i the oity i constantly icreasing.,
Options:

, % StatementI is the cause and statement IT is its effect;
5 o Statement II is the cause and statement I is its effect;
- » DBoth the statements I and IT are independent causes;

4, % Both the statements I and IT are effects of independent causes.
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Which one among the following statements about Mohamed Nasheed of Maldives is not correct?

Options:
, w He was the first president of Maldives to be elected through multiparty elections.

- u He became the President of Maldives in the year 2008.

-  Hewas a strong advocate of the policies of long-time president Maumoon Abdul Gayoom.

, % He has been advocating and promoting democracy and human rights in Maldives.
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Dr. V. Kurien has distinguished himself in which of the following areas?

Options:
, % Poultry farms

> % Economic Reforms
-  Dairy development

4 % Atomic Energy
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Peninsular India has the following zonal soil types:
Options:

1 « Red soil



- % Forest soil
= % Saline soil

4 % Alluvial soil
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Wational Agrcultural Tnsuwranee Scheme, to replace Comprehensive Crop Insurance Scherne, was introduaced in the vear:

Options:
1 ® 1997

> % 1998
5 « 1999

4 % 2000
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. % 1998
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., = 2000
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How many types of emergencies are envisaged by the constitution?
Options:

1 ® 1

| ]

o> R
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Phylum coelenterata is also known as:

Options:
1 % Protozoa

> % Porifera

% « Cnidaria

G

4 % Annelida
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Wornens History Mornth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITEnNs history 15 valuable all twelve months of the vear. Wornen have overcome daunting odds to succead
and excel in all areas of haman endeavor, including science, manufacturing, athletics, business, and
exploration.
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Aryabhatta was an extraordinary teacher and scholar who had irmmense knowledge about mathermatics and
astronomy. He suggested the heliocentric theory which proved that the sun is located in the centre of the solar
systerm and all the planets revolve around it. In fact he made this discovery way before Copernicus made this
discovery in the West. Aryabhatta was born in Kerala and lived from 476 AD to 550 AD, he completed his
education from the ancient university of MNalanda and later he mowved to Bihar and continued his studies in the
great centre of learning located in close proximity to Kusumapura in Bihar and lived in Taregana District in
Eihar in the late Sth and early 6th century. The astronornical calculations and deductions suggested by
Aryabhatta are extracrdinary by the fact that he did not have any modern equiprment or instrurment to do it
He had a very sharp brain and his dedication and hard worl led him to solve the various mysteries of the solar
system. He also deduced that the earth is round in shape and rotates along its own axis, which forms the
existence of day and night. Many superstitious beliefs were challenged by hirm and he presented scientific
reasons o prove thern wrong. He also said that the moon has no light and shines because it reflects light from
the sun. He also proved wrong the false belief that eclipse is caused because of the shadows formed by the
earth and the rmoon. Aryabhatta used epicycles in a sirrilar manner to the Greek Philosopher Prolerny o
illustrate the inconsistent moverrent of some planets. This great astronomer wrote the farmous treatise
Arvabhativa, which was based on astronormy in 439 AD. This treatise was acknowledged as a masterpiece. n
honour of this excellent work Arvabhatta was made head of the Nalanda University by the Gupta ruler
Buddhagupta. Aryabhativa is a treatise that includes various facts related to Hindu mathematics and
astronormy that appearad during those times. The treatise comprises of four chapters that are concerned with
sine tables and astronomical constants. It also comprises of rules to calculate the longitudes of the planets by
utilizing epicycles and eccentrics and also the rules related to trigonometry and calculation of eclipses. There is
a ganita section in the Aryabhativa, which include various innovative methods for calculating the lengths of
the chords of circles by using the half chord method unlike the Greeks who used the full chord method.
Aryabhatta 15 ameong the mathematicians who brought new deductions and theories in matherratics and
astronomy. His contribution to the mathermatics cannot be ignored, as he was the one who deduced the
approximate value of pi and correct formulas for calculating the areas of triangles and circles.
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